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Map Sheet 1 Visit OutdoorNebraska.org for the most up-to-date online Public Access Atlas

[¡ OFW Fishing Sites

[¡ Public Fishing Sites

OFW All Hunting Seasons & Trapping

OFW All Hunting Seasons, Trapping, &
Fishing

OFW Hunting and Fishing - Waters

OFW Fishing Only

NGPC State Park

NGPC Wildlife Management Area

U.S. Forest Service Land

Additional hunting areas on tall wheat and milo stubble 
will be added after the atlas printing deadline. These
areas provide great hunting opportunities for upland
game and other wildlife. After September 15th, please
visit outdoornebraska.org/publicaccessatlas/ 
for locating these small grain stubble sites.
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Map Sheet 1 Visit OutdoorNebraska.org for the most up-to-date online Public Access Atlas

[¡ OFW Fishing Sites

[¡ Public Fishing Sites

OFW All Hunting Seasons & Trapping

OFW All Hunting Seasons, Trapping, &
Fishing

OFW Hunting and Fishing - Waters

OFW Fishing Only

NGPC State Park

NGPC Wildlife Management Area

U.S. Forest Service Land

Additional hunting areas on tall wheat and milo stubble 
will be added after the atlas printing deadline. These
areas provide great hunting opportunities for upland
game and other wildlife. After September 15th, please
visit outdoornebraska.org/publicaccessatlas/ 
for locating these small grain stubble sites.
 


